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If you do not want or want to

understand  statistics in  the

You want 10

may

understand them first.

Lo

describe “variance”? How
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future.
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ou want to understand

statistics in the future,
understand these two items:
One is to imagine
"Dispersion.” Second,
understand how to quantify
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p.1 Explain the weight with a
Find <tir=]

distance from the "center

hanging balance.
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gravity" where balance can be
obtained. Add a minus to the
distance to the left weight. For
the balances A and B, calculate
the sum of the distances and find
the average value. Each of them

becomes zero, and it i1s not

ELEd.

possible to express “variance”.+
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p.1: Explain using a balance
with a suspended weight.
Calculate the distance from
the "center of gravity" where
you can balance. Add a minus
to the distance to the left-side
weight. For balances A and B,

calculat the sum and
average a .

Each average is zero. As a
result, the average value
cannot be wused as an

indicator of “Dispersion”..
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